0551807200: Jis> asla slaaals Clazly ) eyne Sl phaall Sy 1 3G

ao oL o KING SAUD UNIVERSITY

aga. 1l

PSRN, DEANSHIP OF THE FIRST YEAR COMMON
e BASIC SCIENCES DEPARTMENT

MATH 101 HW = 1/ SECONDSEMESTER 1441 Date: 06/02/2020

A. Classify the following numbers into rational and irrationals.

{\’/—? % (f)s (»F \/_)z 7+1.3 , V5416, cot30, ]1—:]}
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B. SoZe the following inequalities and write the solution in interval notation.

1 4+302z-1D2z+2

2. r+3<4r+1l<zx+7
4 (d-z)+7211

6. °-10r+25<0
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Find the domain of the following functions

L flz)=2" +50-1 2 f(r)=f3- e =2

3. f) :

B cse(-r)
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2 Marks one for each

Determine whether the functions are the same or not.

1. f(z)=

— Iz
— 9(z) = cos’ z.

1+tan‘z
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Let f(.‘l':): - 4, g(;z:):-\f‘zx—].
r —

1. Find =and its domain.

g
2. Find (f o g)(x) and (f249)).

Qv

= (4% > 2)U (2, o)
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< in ()(.\_“Qz Sin X CesY 4+ Cos X S\‘v\‘g

X 3
Sin 13 Cos /7 4+ cos 13 Sin |7

Sin (134 17) = STh3e = 1
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1. Prove the identity

2. Solve the trigonometric equation:

sinz +sin(2x) =0, =z
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